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 BZYCT-133  

BACHELOR OF SCIENCE (GENERAL) 

(BSCG) 

Term-End Examination 

February, 2021 

 

BZYCT-133 : COMPARATIVE ANATOMY AND 

DEVELOPMENTAL BIOLOGY OF VERTEBRATES 

Time : 2 hours Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 7. Draw  

well-labelled diagrams wherever necessary. 

 

1. (a) Fill in the blanks : 4
2

1
=2 

(i) The alpha cells of the pancreas secrete 

the hormone __________. 

(ii) The normal tidal volume of humans 

which are at rest is approximately 

__________ ml. 

(iii) Respiration by skin is known as 

__________ respiration and by lungs is 

known as __________ respiration. 
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(b) Define the following terms in 1 – 2 lines : 41=4 

(i) Parthenogenesis 

(ii) Nieuwkoop Centre (Blastula Organizer) 

(iii) Apoptosis 

(iv) Morphogenetic Movements 

(c) Differentiate between the following pairs of 

terms : 41=4 

(i) Rod and Cone cells of retina 

(ii) Ganoid and Teleost scales of fishes 

(iii) Contour and Filoplume feathers of 

birds 

(iv) Sweat and Sebaceous glands of 

mammals 

2. (a) Write the functions of Pars distalis of the 

pituitary gland of mammals.  

(b) Explain the process of regression of the 

primitive streak during embryonic 

development of a chick. 2+8=10 

3. (a) List the types of vertebrae that occur  

in vertebrates and describe any two of 

them.  

(b) Draw a well-labelled diagram of the ventral 

view of the mammalian heart. 5+5=10 
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4. (a) Discuss the feeding mechanism of 

amphibians.  

(b) Give the functions of the urinary system of 

animals. 5+5=10 

5. Discuss the role of cell signaling during 

embryonic development. 10 

6. (a) Describe the structure of a neuron with the 

help of a well-labelled diagram.  

(b) Give any five characteristic features of 

cleavage. 5+5=10 

7. Write short notes any two of the following : 25=10 

(a) Acrosome reaction during fertilization in 

sea urchin 

(b) Developmental stages common to all 

animals 

(c) Fate Map of Amphibian Blastula 

(d) Gametogenesis in Humans 
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 ~r.OoS>.dmB©.gr.Q>r.-133  

{dkmZ ñZmVH$ (gm_mÝ`) 
(~r.Eg.gr.Or.) 

gÌm§V narjm 

\$adar,  2021 

 

~r.OoS>.dmB©.gr.Q>r.-133  H$eoé{H$`m| Ho$ VwbZmË_H$ emara  
Ed§ n[adY©Z Ord{dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§»`m 2 go 7 _| go {H$Ýht  

Mma àíZm| Ho$ CÎma Xr{OE & Ohm± Amdí`H$ hmo, dhm± 

gwZm_m§{H$V AmaoI ~ZmBE & 

 

1. (H$) [aº$ ñWmZm| H$s ny{V© H$s{OE : 4
2

1
=2 

(i) A½Ý`me` (n¡pÝH«$`mµO) H$s Eoë\$m H$mo{eH$mE± 
__________ hm°_m©oZ òm{dV H$aVr h¢ & 

(ii) {dlm_ H$s AdñWm _| _Zwî`m§o H$m gm_mÝ` 
Ádmar` Am`VZ bJ^J ________ {_brbrQ>a 
hmoVm h¡ & 

(iii) ËdMm Ûmam ídgZ _________ ídgZ H$hbmVm 
h¡ Am¡a \o$\$‹S>m| Ûmam ídgZ _________ ídgZ 
H$hbmVm h¡ & 
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(I) {ZåZ{b{IV eãXm| H$mo 1 – 2  n§{º$`m| _| n[a^m{fV 

H$s{OE : 41=4 

(i) A{ZfoH$OZZ 

(ii) Ý`yHy$n Ho$ÝÐ (ãbmñQw>bm Am°J©ZmBµOa)  

(iii) EonmoßQ>mo{gg (H$m`©H«${_V H$mo{eH$m _¥Ë`w) 

(iv) g§aMZm{dH$mgr J{V`m± 

(J) {ZåZ{b{IV eãX-`w½_m| Ho$ ~rM A§Va ñnï>  
H$s{OE :  41=4 

(i) ao{Q>Zm H$s N>‹S> Am¡a e§Hw$ H$mo{eH$mE± 

(ii) _rZm| Ho$ OZZJ«§Wr` Am¡a Q>r{bAmoñQ> eëH$ 

(iii) n{j`m| Ho$ Xoh{nÀN> Am¡a amo_{nÀN> 

(iv) ñVZYm[a`m| H$s ñdoX Am¡a V¡br` J«§{W`m± 

2. (H$) ñVZYm[a`m| H$s nr`yf ({nQ>çyQ>ar) J§«Wr Ho$ nmg© 
{S>ñQ>o{bg (XÿañWm§e) Ho$ H$m`© {b{IE &  

(I) MyOo Ho$ ^«yUr` {dH$mg Ho$ g_` Am{X aoIm Ho$ 
à{VJ_Z H$s à{H«$`m H$s ì`m»`m H$s{OE & 2+8=10 

3. (H$) H$eoé{H$`m| _| nmE OmZo dmbo {d{^Þ àH$ma Ho$ 
H$eoéH$m| Ho$ Zm_ {b{IE Am¡a CZ_| go {H$Ýht Xmo H$m 
dU©Z H$s{OE &  

(I) ñVZYm[a`m| Ho$ öX` Ho$ AYa Ñí` H$m gwZm_m§{H$V 
{MÌ ~ZmBE & 5+5=10 
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4. (H$) C^`Mam| Ho$ AeZ gmYZ H$s MMm© H$s{OE &  

(I) O§VwAm| Ho$ _yÌ V§Ì Ho$ H$m`© {b{IE & 5+5=10 

5. ^y«Ur` {dH$mg Ho$ H$mb _| H$mo{eH$m g§Ho$VZ H$s ^y{_H$m H$s 

MMm© H$s{OE & 10 

6. (H$) EH$ gwZm_m§{H$V AmaoI H$s ghm`Vm go EH$ 

Ý`yam°Z/V§{ÌH$m H$mo{eH$m H$s g§aMZm H$m dU©Z  

H$s{OE &  

(I) {dXbZ H$s {H$Ýht nm±M {d{eîQ> {deofVmAm| H$mo 

~VmBE & 5+5=10 

7. {ZåZ{b{IV _| go {H$Ýht Xmo   na g§{já {Q>ßn{U`m±  

{b{IE : 25=10 

(H$) g_wÐr A{M©Z _| {ZfoMZ Ho$ g_` EH«$mogmo_ A{^{H«$`m 

(I) {dH$mgmË_H$ AdñWmE± Omo g^r O§VwAm| _| EH$ O¡gr 

hmoVr h¢  

(J) C^`Mar ãbmñQw>bm (H$moaH$) H$m {Z`{V _mZ{MÌ  

(\o$Q> _¡n) 

(K) _Zwî`m§o _| `w½_H$OZZ  


